EARAROBEEIERT — 2 N— IBISH —F 2019510827 (H) 3m#E6H

mﬂa%zﬁ kBRI 46 [B5E] B BRI e
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ e A&t 122, - . . KIEE (EH
1 > PIEEP KAz — 4 2 i 1(2_2)9 5-4 36.4| 83.5 | 7 (3350) o]
LTIyl B:x)F—I RS
2 4 2 | EREH 1:23.1 1-1 37.1( 81.7 | 1 440 | EERE— (RR)
2|5/8| F 51V %53.0 @/ Cioy | BLLE=
A:War Command B&:77>d—d— BSllike)
D = 2 | HEAR 1:23.3 2-2 37.0/ 79.8 | 8 434 | DNEERDE (3534)
sl 7 | 71X TIT« i A51.0 (1 1/4) (-p) | MBS
RFHYRTIIRE B bh—k—T1—> Kt4is
S, 43 N it 2 | ENEAF 1:23.6 2-2 373 77.0 | 3 478 | BUBTIE (BEH)
4 KXY 5 AEIFILN 54.0 () -2) LHiEER
RN—ErTr— BiAAHt=alU—F HET7— L4
= . o2 | ARHER 1:23.9 5-6 37.3| 742 | 9 418 | BIIEE (E#)
5(8/15| 7> T~ 54.0 (1 3/4) © | B EvILyKETr—L
RiVa—hTF—J B:XT/trEx #H BB
N sy — FILUE—BB 124, - . . =g (EX)
6 slotoons=— B 2 i 1 (224)2 1-10 [ 87.0| 71.1 | 4 (4_4136) L
L:oA7% BACINTTR me =A
= 4 2 | HHEHEA 1:24.3 8-7 37.3| 70.4 | 12 424 | RZIIBERR (BBR)
717/12| 72 =—F A% 54.0 (1/2) -2) KR;‘W\“‘/
¥ AN B:T71=Z—Fz1 i &R
2 s f 2 | BBRE 1:24. 8-9 37.3] 70.4 | 13 | 414 |XEF— (FR)
811 S AJN= 2 54.0 (7€) “+2) HEE—
x40 B:7Yv—= TEE4S
N HZIEH : - TFEZ (ER)
N : NEEPELIAY 2 e N i e Bl B /0
RN—=5—=29 7 BT NERR =e)
P A1) S A f 2 | AEEtH 1:24.4 13-10 [ 37.1| 69.3 | 11 412 | EBESE ()
10[7|13 7Ry 7>V >7 A52.0 (1) © | B RE=FIr—n
:IA42>T7Fy2a B:IN-O-X AE-R77—L
y = o S 2 | EHB— 1:24.7 7-7 37.9| 67.2 | 5 478 | THEEZ (EX)
1o 77¥IAYY— 2 @ (o) | B HBEL=xA-2
REATATv— B:OqAviTY— HET 7 — L
S 4 2 | HlEs 1:24.7 11-13 | 37.5| 66.8 | 2 434 | NEPREB (3E5)
13| ¥z 70T %53.0 (74%) (2) | MIEZEE
R:/HTURRN BixAAYa—Ta> FE4S
A = B2 | HEEAH 1:24.8 13-13 | 37.5| 65.9 | 14 | 436 |&mEE F#)
13y 11| 7 — hIT—T IV 54.0 (172) (+16) (H)Eﬂajw K957 5747
LUTIAINT N BT ) L INIVH — FE KR
= s S i 2 | AFBIEA 1:24.8 15-15 | 37.0| 65.4 | 15 | 424 |HOEELIRN ()
14/ 814 JT A4 TR 54.0 (74%) ) (%) /v=>F1—%FTLy KRR
RRENNS=Y BZI—FaAT—> MEZ %Y K
o ey g B 2 | BEELT 1:28.5 2-4 42.2| 42.7| 6 436 | BIUER (EiH)
155|190 777 = b4 As1.0 (514) o | 8 HAL-ZA-x
REATAS v — BTATLT T2 HET 7 — L
@ 21 L
£ 48.6-36.9
NA>ZA L | 12.4-10.8-11.1-11.7-11.8-12.4-12.7
® 1—F—@EBIERL
13—7F-
20—F—
Jo=5r= 8(7,9,5) (2,15)10(1,4,12) (3,6) (11,13)-14
43—+ — 8(7,5) (2,9)15(10,12)1(4,6,13) (11,3)-14
[ N5
B 2 2,040M 714K 2-8 890M e E 2-5 4401 JEE 2-7-8 10,500
# B 2 530/ 2-7 3,350 B = 2-8 2,140M 3EE 2-8-7 75,750
8 140 7-8 940 B H 2-8 6,140
7 490M

ABICOVWTRDTEEERROODE. TR LIV,




